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Q1) For what instrument was Beethoven's Moonlight Sonata written?

Q2) In which country is the city of Turin?

A) Spain B) ltaly C) France D) Portugal

Q3) What is the name given to the art of producing miniature trees by selective pruning?

Q4) What nationality was Alexander Graham Bell?

A) Canadian B) Scottish C) English D) American

Q5) Which country has hosted the Summer Olympics the most times?

A) Canada B) Russia C)China D) USA

Q6) Who was the Prime Minister of the United Kingdom between 2010 and 2016?

Q7) As of the current timeline, in 2023, which iteration is the French Republic in?

A) Fifth Republic B) Third Republic C) Fourth Republic D) Second Republic

Q8) Which US President had a cat named Socks residing in the White House?

A) Bill Clinton B) George W. Bush C) Barack Obama D) Ronald Reagan

Q9) What gas is primarily responsible for the greenhouse effect?

A) Helium B) Carbon dioxide C) Nitrogen D) Oxygen

Q10) In computing, what does the acronym WWW stand for?
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Trivia Quiz Answers

by Words Up Games
Q1) For what instrument was Beethoven's Moonlight Sonata written?
Piano
Q2) In which country is the city of Turin?
A) Spain B)ltaly C)France D) Portugal
Q3) What is the name given to the art of producing miniature trees by selective pruning?
Bonsai

Q4) What nationality was Alexander Graham Bell?

A) Canadian B) Scottish C) English D) American

Q5) Which country has hosted the Summer Olympics the most times?
A) Canada B) Russia C)China D) USA

Q6) Who was the Prime Minister of the United Kingdom between 2010 and 2016?
David Cameron

Q7) As of the current timeline, in 2023, which iteration is the French Republic in?

A) Fifth Republic B) Third Republic C) Fourth Republic D) Second Republic

Q8) Which US President had a cat named Socks residing in the White House?

A) Bill Clinton B) George W. Bush C) Barack Obama D) Ronald Reagan

Q9) What gas is primarily responsible for the greenhouse effect?

A) Helium B) Carbon dioxide C) Nitrogen D) Oxygen
Q10) In computing, what does the acronym WWW stand for?
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